
Algebra - quadratics
Solving with rearranging





Recap!

• Solve

X2 – 8x – 20=0

(x-10)(x+2)=0

EITHER

X-10=0 … So x=10

OR 

X+2=0 … so x=-2



https://app.mymaths.co.uk/192-lesson/quadratic-equations-2



One more before you go….

x2 + 3x = 28

x2 + 3x -28 = 0

(x-4)(x+7) = 0

X-4=0 … x= 4

OR 

X+7=0 … x=-7



Traffic light your work today.

Thumbs down- I don’t understand it

Thumbs across- I understand some of it

Thumbs up- I understand all of it



A further task will be on the website for you to 
complete later today – one merit for all who do 



